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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level English 1123, and to
show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum and
assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub.

These files are:

June 2018 Question Paper 22

June 2018 Paper 22 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support
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Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — Question 1, high Examiner comments

point about clothes.

gac;rljclanj aomals o o Jod or.. o&s ooa4 a.w\ ( vql WT#MM}%JW ° Not a point, an extension of
' 9 All other points in this section

1 '“"‘""L'm . needles..made. -fvom SUlyvexs, gfqmmdbanesi are clearly made.
Uses made of animals today ' 0 e © ‘Horses’ needed to be
) : specified.
o (used for) educational purposes
....... ‘.). sed fo )Qﬂ*ﬂkwpmrﬁf?uv’)oldctmd’wjmKExammer comments are \
' 4\ 3 P( alongside the answers. These
Answers are by real candidates in exam conditions. explain where and why marks | |
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can
help your learners to refine

Ktheir exam technique. J

How the candidate could have improved their answer

The candidate was able to identify keywords in the text and utilised them as part of the answers. This candidate
interpreted explicit and implicit information, including the writer’s attitude. The candidate also demonstrated
understanding of how to write using appropriate language and structure to effectively answer the questions.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

The question asked why the author uses these particular phrases to convey his meaning. Many candidates only
gave the definition or explained the phrases without giving the reasons why the author used these particular phrases.
Therefore, the reponses gained only one mark.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Example Candidate Responses — Paper 2

Question 1

Example Candidate Response — high Examiner comments

Section 1: Reading for Idéas
Read Passage 1, Péople and Animals, in the Insert and answer all the- questions below.
1 (a) Notes ‘ .
Identify and write down the information in the passage which describes people’s uses of
animals in former times, and the uses made of anlmals today L s
USE MATERIAL FROMITHE WHOLE PASSAGE. ‘. - "
At this stage, you do not need to use your own words. Use"note‘form..lTo h‘élp you get started,

the first point in each section of notes is done for you. You may find it helpful to use bullet
points when listing the ‘content points.

~ Yoli will be awaided tip to 12 fiafks f6r content points! = ©
Content Points
People’s uses of animals in former times

(means of) ’,’é._, dg transport
-us -fo TONE... o@cdz ..... S S ................. ‘

. US@«M anthe.. hun—hn ...... QF a'lheyﬂmfma& ................. e orernesenneens
. anmals. hod...a. yole. o ;olag A AN i

'““&‘V ...... B S
@ W}C&m U$ed)-)?> pevide.. ca»m)?c\mm,s\m? a8 he. senge. ‘a_H)uvime
. Qsed —Q:\VB ..... anwnal = O\SS‘k}C& ﬁhsvcapﬁ........,.....- ................................. [12] "

gﬂcf“";qdnﬁ...ammqﬂs Ao...a.. Jad»or ods. wes.om.. (Mr&mﬂrm‘fgfumwhdw_
“sed . spe S R T R P —
-l""’—"*w’n 3( nesdles...made..fram... 81128 «fﬁnlmﬂ!bﬂn&
Uses made of animals today ) o e

*  (usedfor) educational purposes .
....L.Qs.se\. ov) Boderteanmen... purposes..

ﬂ Not a point, an extension of
point about clothes.

e All other points in this section
are clearly made.

e ‘Horses’ needed to be
specified.

e Purpose not required by rubric,
only use of animals.

e ‘Pets’ needed to be specified.

Mark for (a) = 12 out of 12

]@/‘/ PAST PAPERS
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

(b): Summary

Now use your notes from 1(a) to write a summary of people’s uses of animals in former tj mes,
_and the uses made of animals today, as outlined in the passage.
et arelts T ; T g

Use your own words asfar as possible. You will be awarded marks for producing. a piece of
writing which is relevant, well ogganisedt,and easy to follow. . J .

Your, summary must be-in continuous writing (not note form). You are advised to write
‘bétween 150 and 180 words, including the 10 words given below:

[T T ) T *

Beginyour summary asfollows: - " 8 8 A

"ot Sirice earlisst timés; people have made use-of-arimals.as: ..4......SOLYCE, 0’79 Hood

vud al SOUSed%eMoY—WananﬁdhmeTP pods.. . The

... ides. . of. amwaak.... ok 05ed.. RY. AR Keephemmidveh...
o wavA.and. d .,.s.nm»f?ﬂ}nmgm;). wHk-levev'rhmei"neeﬂle
Fonthe. Sfoer. efctbe. anmals.. bone.. allowed. hywans. o mpreveShay
dﬁh\qﬁ% 2 anmals... ey a—..usgﬂ..gé.—..h&mn..;Mnﬁlzqﬁ.:'shﬂ....
weve, alsa.... 0580, on doe. oatheledS ... 5. dbe anmals wevs .
downesticaded.. dhe mmvemwbe'jusedb | howsans. 40 byl lhey
amimals . meve ovey. Jhe  avmals. Wexe aJso. wsed. as.an. alfe "
—fﬂ@adw mmaﬁ’f*digsm ...... in..the early. ciulisadons,

ammals. . wele. . kgl gart_mthe. . sparHey .aghvrhes. and.
ez@m.:‘.@;d.@....mtz...mn....lm?.n-iﬂrﬂ....?aﬂ.. ...... T Now o doms antmals.
WAVe

me..bemg Kept in.ZooL. . whithallons people o see Fhom. wrhaw

AlsD.. bewmg.... v-glhz,ea\w\-\qu{\a\rﬁaawnﬁcvxw?m
Srmel)...dvbas. ... sxplsiced. Aawaly. ave. used... v SoenbiGe..
Yeshwn ~ob.well ab | bewg . used fvnevapudic. . vearorS... hed abso @ Relevance - almost entirely
?.F@:Z...m..s.e.n.éﬁ...e.ﬁ....!;am?c’mlmshﬂ.?.,..amd.:.....Cimc.\...ﬁm.,..!{é.gd.....b\.j...?ﬁnﬁf_.... relevant.
\Y)vwas}\ave@@’{mmwcﬁéfmCOYY’CaA'*LdSeﬂayuywﬂ @ Coherence - fluent, good use

Pradw@fe .............................................................................................. of linking devices, although more
‘ might have been used.

Mark for (b) = 9 out of 10

Total mark awarded =
21 out of 22

@ PAST PAPERS
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

« (a) Although full marks were scored, the candidate gave irrelevant point about ‘needles’, and wrote that animals in
general rescued people, as opposed to the specific ‘horses’ of the text. The superfluous link to ‘paying for children’s
education’ was given, whereas ‘selling animal products’ had already scored the mark; uses of animals was the
rubric, not the purposes of using animals. ‘To provide companionship’ was not sufficient to score without the
specific reference to ‘pets’.

* (b) The following references were relevant: food, transportation of goods, animal hides to keep warm, offerings to
gods, sports, education, finding lost people (an attempt at the point, relevant although insufficient), sniff out drugs,
scientific testing, therapy, selling animal products. There was only one irrelevant detail given, namely reference to
needles. Therefore, this script was awarded upper Band 5 for Relevance.

» The following lines were fluent: but also (line 2), simultaneously (line 4), although (line 6), also (line 7), as (line 7),
moreover (line 9), nowadays (line 12), which (line 13), as (line 16), as well as bring (line 18), also (line 18), and
even (line 19), as (line 20). Answer could have been improved with more links, such as ‘however’ or ‘furthermore’.
This script was awarded lower Band 5 for Coherence.

@ PAST PAPERS
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

Section 1: Reading for Ideas
Read Passage 1, People and Animals, in the Insert and answer all the questions bélow.
1 (a) Notes

Identify and write down the information in the passage which. describes people’s uses of
animals in former. timés, and the uses made of animals today.

‘USE MATERIAL FROM THE WHOLE PASSAGE.

At this stage, you do not need:-to use your own words.. Use note form. To help you get staried,
the first point in each section of notes is done for you. You may find it helpfuf to use bullet
points when.listing the content points.

You will be awarded up-to 12 marks for content points.

Content Points

People’s uses of animals in former times

*  (means of) human transport
vm-{uwwe@k)edaovm&/m\ﬁwwﬁm%vw
2 Abek Rormy, Wi es.. e, e 0. M. .. e, M
B S N
‘QM@MQP@O&%W&& .................... e
¥ e P D0 afxé,\w\Kwéwg
R I T T S

Uses made of animals today

*  (used for).educational purposes

‘M%Y‘MMM&W" .....................................................................................
rew@rmgz\e«bﬂavwgea%%mvewm
r@m&@eﬂg@gmﬁhqu% ..... N ST
Qﬁ\/érog&m?rcr‘me .........................................................................................
M‘\w%c‘\e_n%@u%@ﬁ*\\% ................................................ et
250 e el fresbeb. PRONRETZ. e
209800 M VAR
‘%Q"W‘l’\vtt_ﬁ)o@v‘éﬁg&e ........... [12]

ﬂ Some points were incomplete
in Section 1. Need: animals hunt
other animals (to protect food
supply); reference to god(s) (for
religious purposes).

e Some points were incomplete
in Section 2. Need: reference to
horses (to search for people);
reference to sniffing out drugs or
explosives (in fight against crime).
No attempt at point about pets.

Mark for (a) = 9 out of 12

@ PAST PAPERS
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued

Examiner comments

«(b) Summary

Now usé your noteysfrom 1(a) to write a summéry'of:people’s Uises of animals-in former times,
and the uses made of animals today, as outlined in the passage.

Use your own words as far as possible. You will be awarded marks for producing a piece of
writing which is-relevant, well organised and easy to follow:

Your summary must be in continucus, writing (not note form). You are advised to write
between 150 and 180 words, including thé 10 wordsgiven below.

Begin your summary as follows:

Since earliest timés, people have made use of animals as .....0\....YRaWS. ... O‘P ............
Avvoport... 0wl distances 1. Some e doconatal
0. chew ok . e sediedd s Adwele were.als0 el
Ao oo WA sia.. ... bagks. .. ekl veyhvl, . gpeds. -
- Avwal w%om\xﬁﬁ@w&m&mmmﬁwwﬁued%

MLM@&%&W%MiwmmﬁﬁAh}wm\"a

%QM@T&@&,WP‘)M&’%&“M$WMpo(%‘\”mv\ﬂg

A2 0. Grovsen... Twoda. 1Y Hreof e be eng . onve)=Fhe
onile.. witla... speda). Sevaes.... helg. An.. oveeda a¥tow.. 0. Jep

A b Lok eeple . St bave . fowd .. ey ... N....
v%e;\%rm%m\dﬁ%%% ..... Suehas,

Kmﬁ%mkwutmpd’@ow‘w@mw\%@@e&iﬂl&]%"
vL&w@\eAm\m\% ..... onf%oa\¢‘w'tbqr4}>\5 ........ wiadh..

M@*@m&%%l\%m&mﬁewc\-w '

e Relevance - inclusion
of irrelevant detail such as
decorating animals to show
rank, animals carrying weight on
their backs, fur from mammoths.
Inclusion of opinion about cruelty.

o Coherence - a few lines
indicated as being fluent. Greater
use of linking devices would have
improved the answer.

Mark for (b) = 6 out of 10

Total mark awarded =
15 out of 22

@ PAST PAPERS
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

(a) Although many points were correctly made (reference to carrying objects, using animal skins to keep warm,
using animals for food, in warfare, in sport, for entertainment, for scientific testing, selling animal products, and
therapy) several points were incompletely attempted. These included: reference to protection of food supplies
without reference to how this was done (by animals hunting other animals); reference to sacrificing animals without
reference to sacrificing them to gods; reference to animals in general rescuing people as opposed to the specific
‘horses’ of the text; reference to fight against crime without it being specified that this was done by training animals
to sniff out drugs or explosives. There was no attempt at the point about pets. In general, candidate’s answer would
have been improved by focusing on separating the main points from what were generalisations or partial points.

(b) The following references were relevant: transport, clothes, food, transportation, entertainment, forecasting
earthquakes, scientific testing, selling animal products, pets, and therapy. There were several irrelevant examples
given, namely reference to decorating animals to show rank, animals carrying weights on their backs, fur from
mammoths being used to make clothes as opposed to fur or hides from animals in general. The opinion about
using animals for entertainment being cruel was included. This meant that the candidate did not quite make the
points of the text. Therefore, this script was awarded upper Band 3 for Relevance.

There were three lines which were fluent: (line 3), in modern times (line 12); also (line 19). The sentences were
generally accurate but the candidate could have scored a higher mark had they used more linking devices and
tried to synthesise some of the points. This script was awarded upper Band 3 for Coherence.

]@/—/ PAST PAPERS
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Example Candidate Responses — Paper 2

Example Candidate Response — low

Section 1: Reading for Ideas
Read Passage 1, People and Animals, in the Insert and answér all- the questions bélow.
1 (a) Notes

identify and write down the information in the passage which describes people’s uses of
animals in former times, and the uses made of animais today.

USE MATERIAL FROM THE WHOLE PASSAGE.

, At this stage, you'do not need to use your own words. Use ‘n,ote form: To help you get started,
the first point in each section of notes is done-for you. You may find it helpful to use bullet
points when listing the content points.

You will be awarded up to 12'marks for content points.
Content Points

People’s uses of animals in former times

¢ (means of) human transport

hund

............................. e MACk Lo [reer.. good. saffat Wﬂ[}}/w
; fecffoses. which.

Uses made of animals today

«  (used for) educational purposes

. Some. . animds... ke, Jerve.. oot Mclfwgwmﬁ ...............

%‘H‘?Mm ....................................................................... A
/4n:ma/4LJ&:WHMM%WMAW!A»JM:W}«

Examiner comments

o No points made in Section
1. Either (i) individual animals
selected without a context or (ii)
examples of how specific animals
were used. Little attention to the
rubric, i.e. uses of animals.

e Three points made in Section
2: forecast earthquakes, scientific
testing and sniff out drugs.
Reference to dairy products is too
specific. Five answers offered.

Mark for (a) = 3 out of 12

@ PAST PAPERS
Cambridge O Level English Language 1123 INSIDE,




Example Candidate Response - low, continued

Example Candidate Responses — Paper 2

Examiner comments

1

(b). Summary

Now use your notes from.1(a) to write a.summary of people’s uses of animals in former times,
and the uses.made of animals today, as outlined in the passage.

Use your own words as far as possible. You will be awarded marks for producing a piece of
writing which is relevant, well organised and easy. o follow. ¥ IR

Your summary must be in continuous Writing (not-note form). You are advised fo write
between 150 and 180 words, including the 10 words given. below.

Begin'yoursummary-a‘sfolllows: ) ' ! ‘ ; '

Sinde’ é&rliész‘ times, people have-made sé of animals as .. %s?’Mfw/
beth... humens.....ond... Lesga zk&%p@mﬁmﬁhwlﬂb‘(
hmozmmg//;fmngwmﬂx
b tseal . Gor.. chifforedt focfures. I 5ot enely... ..
VZQ—M[)’ ...... Wi m(ﬂws/ﬁl deel..ca they. el f;zcew; .....
feafle... ... high. tambs..endd.. . dhey... btne.. aged..in.. handng....
IO M o T
went. e ba.. cocry. heory. shdhs. ond. heare. Whed.......
R hémens. Tes...oarce lader. mael.in. hedttea.
ond. 1rtse fufesen. Time.. b Bone._in_olumficr. bacing: dimd....
Sts..aho.woed. s 5igh.of kindneas. Mhle.... ... Hcen b 00
Some._animedh.. mwdér(ﬁrmwiolﬁ&m/%»faﬁr
e e as. Circkaes. fecloses..althosh ib. et s, lnera ..

R

e Relevance - three areas of
relevance given, i.e. transport,
scientific testing, dairy produce.
Lines 1-9 taken up with one
area of relevance supported by
irrelevant details and examples.
Relevance also spoiled by general
statements and invented material.

o Coherence - there is limited
fluency and almost no attempt at
linking devices.

Mark for (b) = 4 out of 10

Total mark awarded =
7 out of 22

@ PAST PAPERS
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* (a) The candidate could have read the rubric more carefully, i.e. the uses of animals. No points were made in
the first section, as (i) either individual animals were selected without a real context or (ii) because the candidate
gave examples of how specific animals were used rather than giving general points as required by the rubric.
For example: under (i), oxen and cheetahs were selected, and under (ii) specific uses of elephants or specific
examples (like animals carrying loads on their backs) were given. In the second section, although the forecasting
of earthquakes, scientific testing and sniffing out drugs were correctly given, only four content points were offered,
the fourth being the incorrect reference to specific dairy produce instead of the wider context of animal products. To
achieve a higher mark in this section, the candidate needed to provide more content points. He should also have
concentrated on entire generic points and avoided giving examples or illustrations. The candidate was awarded
lower Band 2 under Relevance.

* (b) The following references were relevant— transport, scientific testing and dairy produce. Although this last was
not a content point it was an attempt at content and therefore credited with being relevant. There were 4 lines that
were relevant: which (line 2), as (line 5), and (line 8), and (line 16). These were limited signs of fluency and the
candidate was awarded lower Band 3 under Coherence.

Common mistakes candidates made in this question
© (a)

+  The most common error was to offer examples as if they were overarching points, e.g. to write ‘horses carried
soldiers into battle’ rather than ‘animals were used in warfare’ or to write ‘The Greeks used horses in chariot
racing’ rather than ‘animals were used in sports’.

*  Another common error was to write only a partial point, e.g. ‘animals were sacrificed’ with no reference
to gods, or ‘this study could help in forecasting of earthquakes’ instead of ‘animals can be used to help in
forecasting of earthquakes’.

* (b) There were three basic types of errors under Relevance.

«  Writing general statements which did not contribute to the summary, e.g. ‘many animals were used and are
being used for different purposes’ and ‘in recent times, animals were used for different things’.

»  Details and examples, rather than overarching points, e.g. specific reference to camels, llamas and elephants.
* Invented material, e.g. ‘Olympic racing’, sign of kindness’ and ‘harmless or natural way.’
There were also two basic types of errors under Coherence.
*  Not using links such as ‘however’ or ‘moreover’, producing a stilted or abrupt effect rather than a fluent one.
*  Fluency was sometimes impeded by many common errors.

@ PAST PAPERS
Cambridge O Level English Language 1123 'NS".DEM



Example Candidate Responses — Paper 2

Question 2

Example Candidate Response — Middle Examiner comments

2 Re-read paragraphs 4, 6 and 7, and identify and write down one opinion from each of these
paragraphs.
. Paragraph4 wzvnca Lamimots. 60\% Sm* eadenfoinmenk. hn......
cle%mlkel% crruel wnd. vnnalwmed.... n .............................................
»  Paragraph 6 .4ht.... ameckical. bmc&«t& Sdr Jaum g C@nfmr\(&a
...... aul:me:mgh ool Aw‘“Wn% e
»  Paragraph 7 45-'30: . BHaMELINL... h\u'r.\%..p&m...a...(.a}....L‘,M’.\......, ..............

provide. Compoondaship........ [ L —

Total marks for Section 1: [25]

ﬂ Subjective adjectives ‘cruel’
and ‘unnatural’ clearly identified to
support this being an opinion.

e Subijective verb ‘outweigh’
clearly identified to support this
being an opinion.

e Inclusion of ‘can’ makes this an
objective statement and therefore
not an opinion.

Total mark awarded =
2 out of 3

]g/j PAST PAPERS
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

In the opinion from Paragraph 4, the candidate correctly identified ‘cruel’ and ‘unnatural’ as being subjective adjectives
in the context. In the opinion from Paragraph 6, they correctly identified ‘outweighs’ as being a subjective verb in the
context. However, in the opinion from Paragraph 6, the candidate did not identify ‘most exciting’ as being a subjective
adjective in the context, writing instead ‘for someone living alone a cat can provide companionship’. The inclusion of
‘can’ makes this an objective statement and not an opinion. The candidate needed to work on distinguishing between
subjective and objective statements.

Common mistakes candidates made in this question

Common mistakes were not distinguishing between subjective and objective words which indicate opinion or fact as
appropriate.

@ PAST PAPERS
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Example Candidate Responses — Paper 2

Question 3

Example Candidate Response — middle Examiner comments

‘Section 2: Reading for Meaning

Read Passage 2, Nizam, in the Insert-and answer all the-questions-below.
From paragraph 1

3 (a) Give two reasons why Nizam was happy ‘on the day that he qualified’as a teacher.

0 . Becavse. he. wade Wis..pacents.. provd:

, 0 Answer to (i) is correct but
........................................................................................................................................... answer to (||) is not correct. It was
@) Pecavse. e hed. been.. valified... 1. YOUAG . BG necessary to read from lines 3 to
) 9 to get both answers, the second
.......... being that he had achieved an

2] ambition. Two part answers are
(b) Nizam had ‘o write reports on his junior classes’. What is the other reason why Nizam’s. usually separated by a stretch of
weekend was less relaxing than it normally was? - text.

HQ was, asked \o princip ol Yo make o Jopr .

Mark for (a) = 1 out of 2

(2] © A clear answer. Al details
needed, including reference to’
school’ and ‘writing’.

Mark for (b) = 1 out of 1

Total mark awarded =
2outof 3
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

» (a) Candidate correctly identified that Nizam was happy because he made his parents proud. He did not make the
point that Nizam had achieved a lifelong ambition. He could have improved his answer by reading more than the
immediate context of the first correct mark, and thus would not have picked up ‘he was young’ as the answer.

* (b) The candidate gave a correct response by including all relevant detail, including ‘school’ and ‘writing’
(competition).

Common mistakes candidates made in this question

¢ (a) Picking the first plausible sounding answer instead of having the confidence to read on. This was a two-mark
question where typically the two correct responses are separated deliberately by a section of text, in this particular
case by 6 lines, from line 3 to line 9.

¢ (b) Omitting one of the details, such as ‘school’ or ‘writing’ (competition).
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Example Candidate Responses — Paper 2

Question 4

Example Candidate Response — high Examiner comments

From.paragraph 2

The young students Nizam taught were not lazy, inconsiderate or impolite’. What-is the other
reason wh%leam found the newspaper article lnfurlatlng"’

Heralsa...covaked ta, Jv\r\ok@mkm\w a0 a«cw@m

(b) “Instead of recmrocatmg the smlle the waiter, an elderly man, gave Nizam a stony look.’ n
Explain in your own words the waiter’s reaction o Nizam’s:smile..

'X?\e, m‘mw AA.00N... smx\gz, ek \oo\ MZ&\QA

m ......

4 (@

ﬂ The correct answer is given to
Q4(a). Popular wrong answers
were (i) lift of ‘it was an unjustified
tirade’ and (ii) misquote of lift at
line 17, given as ‘he was not able
to count himself as being in that
age group’.

Mark for (a) = 1 out of 1

e Ideas to be paraphrased are
that the waiter did not return
Nizam’s smile but gave him an
unfriendly look. Two correct
answers are given: ‘did not smile
back’ and ‘frowning’. Popular
wrong answers focused on waiter
not liking his job or wrong re-cast
of stony as, e.g. ‘angry’.

Mark for (b) = 2 out of 2

Total mark awarded =
3outof3
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

The candidate scored full marks in this question.

Common mistakes candidates made in this question

e (a) Writing ‘it was an unjustified tirade against the younger generation’ which, although true, did not answer the
question as candidates often missed the force of ‘what is the other reason?’ Another common mistake was to
choose the easier lifted answer ‘was he too not able to count himself in that same age group?’ but to mis-quote it
by writing ‘he was not able to count himself in that same age group.’

e (b) Ignoring the fact that this was a question requiring candidates to answer in their own words and to write,
incorrectly, that the waiter did not like his job. Frequent wrong responses were that the waiter was ‘angry’ or ‘bad-
tempered’.

@ PAST PAPERS
Cambridge O Level English Language 1123 A 'NS'DE
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Question 5

Example Candidate Response — high Examiner comments

‘From paragraph 3

5 (a) Acontrastis created between the-stallholders’ ‘apparent.hostility’ and what is really going on.
Without copying from the passage:

(i) describe what'seems to be happening

....... each oth@”[ﬂ
+ :(fi)~+ desctibé:what.is Féally:going on:

S wg'\'“hmrq,mxrd ..... wan. 0ot o sekiniarone. buk. & park.

....... Gb AT : ex\&%mu\&*Om

(b) Pick out and write down the one word which -shows that the stallholders’ sales' talk never
varied.

....... OUICI, oo e eseesesessesssgosseesenssesssseessessesssessssesenssseseassesssenennnssesenne[1]

(>

a ‘What seems to be happening’
is found in the text at ‘apparent
hostility’, but as own words
are needed ‘hostility’ has been
correctly re-cast as ‘quarrelling’.

‘What is really going on’ is found
in the text as ‘entertainment’

but as own words are needed
‘entertainment’ has been re-cast
as ‘enjoyment’.

Candidates must demonstrate
understanding of the situation,
not just the meanings of individual
words.

Mark for (a) = 2 out of 2

9 ‘routine’ has been correctly
identified as the one word which
shows lack of variety. Many
candidates chose ‘cacophonous’
either because it came first or
because it seemed such a difficult
word it had to be the right answer.
Confidence to keep reading was
needed.

Mark for (b) = 1 out of 1

Total mark awarded =
3 outof3
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* The candidate scored full marks in both Q5(a) and Q5(b). The candidate demonstrated that they understood the
difference between the appearance of what was happening, i.e. that the stallholders were quarrelling, and the
reality, i.e. that the arguments were for enjoyment.

* In (b) the candidate used the context appropriately and gave the correct response, which was ‘routine’.

Common mistakes candidates made in this question

* (a) Not understanding ‘hostility’ and re-casting that as ‘friendly’. Another mistake was to dip into the text at ‘florists’
and ‘aroma of spices’ and conclude that all seemed well and that the stallholders were enjoying themselves or that
the atmosphere was good. If candidates had been confused in the first part of the question at ‘apparent hostility’
they were more likely to answer the second part incorrectly, (‘what was really going on’) often writing that the
stallholders were in competition with each other, instead of focusing on ‘merely a routine and a good-natured part
of the morning’s entertainment’. This would have told them that the answer was that it was all for fun or that it was
all an act.

» (b) Writing ‘cacophonous’. This suggests that either (i) they chose this word because it came in the text before
‘routine’ and they did not read on or (ii) they chose this word because they did not understand it and so thought it
might be correct. Using the context is necessary in this type of question.
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Question 6

Example Candidate Response — middle Examiner comments

From paragraph 4

6 (a) The stallholder showed the woman a scarf. ‘Then another. Then another.’ What does Then
another. Then another’ show about:

(i) the stallholder’s character?

g q\ idnk give. vp. easily, 2 kept Huing to persuade Hhe woman, )

{b) Nizam was ‘shocked’' and eventually ran after the woman. What. two other aspects of his
behaviour show that he was ‘shocked’?

0 Text is used to infer in Q6(a)(i)
that the stallholder is persuasive,
doesn’t give up easily etc. and
scores the mark.

However, in Q6(a)(ii) there is
nothing in the text to support the
idea that the woman is annoying.
Closer reading of text shows she
is either cunning or smart (she
plans to steal) or fussy or choosy
(or pretends to be.) ‘Liar’ is too
specific.

Mark for (a) = 1 out of 2

e ‘gasped’ is correct but ‘ran
out’ etc. is incorrect as it merely
repeats the question. Two-part
questions need reading of a
stretch of text, in this case lines
35 to 39, arriving at the second
answer ‘rooted to the spot’.

Mark for (b) = 1 out of 2

Total mark awarded =
2 out of 4
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* (a) The candidate wrote correctly that the stallholder didn’t give up easily. He did not score the second mark
and wrote that the woman was ‘annoying’ and a ‘liar’. He could have improved his answer by seeing that nobody
seemed to be annoyed in the text and that, in fact, the stallholder was being attentive and helpful, which is not
the sign of an annoyed person. Reading the context more closely would have helped the candidate to see that
the woman was deliberately taking up the stallholder’s time, so that she could steal something, thus showing that
she was clever. Alternatively, the candidate could have inferred from the context that she was fussy or indecisive
(although actually she was only pretending to be).

» (b) The candidate wrote correctly that Nizam ‘gasped’. But for the second part of the question the candidate
wrote that Nizam ‘ran out, taking the stairs two at a time’. This was incorrect as it was subsumed into the question
wording that ‘he ran after the woman’. As with Q3(a), the candidate needed to know that in two-mark questions it is
necessary to read a stretch of text to filter out the two required answers.

Common mistakes candidates made in this question

* (a) Candidates sometimes defined the ‘salesperson’ idea, writing that he was trying to sell a scarf; selling things
is common to all salespersons and not particular to the one in the text. Another common mistake was to offer a
comment on the behaviour of the stallholder or the woman, whereas the question asked about character and not
behaviour.

* (b) As with (a), the most common wrong answer was to pick the first plausible sounding answer instead of having
the confidence to read on. This was a two-mark question where typically the two correct responses are separated
deliberately by a section of text, in this particular case by 6 lines, from line 35 to line 39.
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Example Candidate Responses — Paper 2

Question 7

Example Candidate Response — middle Examiner comments

From paragraph 5

7 {(a) Who do you think laid a ‘heavy hand’ on Nizam’s shoulder? 0 Correct inference had to be
....... feﬁw\%@w@"fw?ieam drawn with the cafe. The most
) ' obvious inference was the waiter,
(b) Nizam thought “The irony of it-alll’ Explain-the ‘irony’ in Nizam’s situation. but ‘manager’ or ’security staff’
...... He. wanked..do. caten the cact thief , however pecple fhovgle | Were allowed. Answers such as

‘the woman’ or ‘the stallholder’ are

................................................................................................................ e .. incorrect.

2 Mark for (a) = 0 out of 1

9 Correct answers require the
contrast either between youth
and age or between innocence
and guilt. Here the contrast is
succinctly made: in the process of
catching a thief he was considered
to be a thief himself.

Mark for (b) = 2 out of 2

Total mark awarded =
2 out of 3
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* (a) Aninference had to be drawn from the context of the café, so 'the waiter’ was the expected answer, with
‘the manager’ and ‘the security staff’ being acceptable. Using the context would have shown that ‘the police’ was
too extreme a reaction to not paying for a cup of coffee and the timescale would have been impossible too. “The
stallholder’ or ‘the woman’ did not fit the context either.

* (b) The candidate understood the contrast between Nizam trying to catch a thief and in the process being taken as
a thief himself.

Common mistakes candidates made in this question

* (@) Ignoring or missing the clues in the context. ‘Who do you think’ showed that an inference was needed here,
and that the context of the café, and the forgetting to pay for the cup of coffee, suggested the waiter.

» (b) Not to understand that irony involves finding a contrast. Some candidates gave half the contrast, e.g. ‘he ran
after the thief although he was not a thief himself’ and this was given one mark although identifying irony involves
finding two sides of a contrast. Other common mistakes were to have an idea that contrast was involved but to
give one part of each of the two possible ironies, which were the contrast between youth and age or the contrast
between innocence and guilt. For example, ‘the newspaper criticised young people and he was accused of being a
thief’ is incorrect as it straddles the two examples of irony in the text.
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Example Candidate Responses — Paper 2

Question 8

Example Candidate Response — high Examiner comments

8 From paragraphs 3-5 inclusive

For each of the words or phrases below, circle the letter (A, B, C or D) whlch ‘has the same
meaning that the word or phrase has in ‘the passage.

(a) riot (Ime 25) . ) : o
A crowd B variety C .demonstration @ mess 1]

(b) coaxed (line 25)

{(c) imperceptibly (line 35) )

A gradually B slightly @ Ainvisihly- D accidentally [1]
(d) collided with (line 43)

A disagreed with‘ bumped into C brokenup D fought against [1]
(e) likelihood (line 48) '

probability B similarity C pleasure approval 1]

/o

A tricked B teased C rotivated @ persuaded 11

0 The vocabulary questions ask
for the meaning of the words in_
the context of the passage. More
attention should have been paid
to the context of husbands buying
flowers for their wives and the
general air of happiness which
was not supported by the incorrect
response ‘mess’ which was given.

e Q8(b), Q8(c), Q8(d) and Q8(e)
are all correct.

Mark for (a) = 0 out of 1
Mark for (b) = 1 out of 1
Mark for (c) = 1 out of 1
Mark for (d) = 1 out of 1
Mark for (e) = 1 out of 1

Total mark awarded =
4 out of 5
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

* (a) More attention could have been paid to the context of husbands buying flowers for their wives and the general
air of happiness which was not supported by the incorrect response ‘mess’ which was given instead of the correct
response, which was ‘variety’.

* (b) All the other responses were correct: ‘persuaded’, ‘visibly’, ‘bumped into’ and ‘probability’. Attention had been
given to the context in which each of these words was to be found.

Common mistakes candidates made in this question

» ‘Tricked’ was often given incorrectly for ‘coaxed’. Again, the context of happiness should have suggested that
‘tricked’ did not fit. Many candidates did not identify the contextual link.

* The context of theft and deception should have helped candidates to identify ‘invisibly’ for ‘imperceptibly’. Many
candidates did not identify the contextual link.

» The context of rushing in outrage should have helped candidates to identify ‘bumped into’ for ‘collided with’,
although the inclusion in the text of ‘watch where you’re going!’ led some candidates to link the expression to

‘fought against.’

@ PAST PAPERS
Cambridge O Level English Language 1123 A 'NS'DE
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Question 9

Example Candidate Response — middle Examiner comments

9. (Re-readv paragraph 4, which contains phrases about (a) the woman and (b) Nizam.
Explain:
*  the Mmeaning of the.phrases as they:are used'in the:passage
»  the effect of the phrases:as théy are.used inthe passage.

{a)’ fher convemently volumlnous handbag (line. 36)

Meaning-..... 8. Hezf’w.aj ...... $ ...... \MN.AL

AV ﬂ Under meaning ‘volume’,

T T e s a0 although not identical to
.EffeCt Wg\mW(\{\u’ TSN 3 2 M .................. ‘V0|Um?nOUS’, is a derivative from
¥ .« N it and therefore does not define
it. Additionally, the candidate
either ignored or overlooked
‘conveniently’ in the expression.

(b) ‘he shot out.of the café’. (line 41)

‘Meaning HCO\MDV\&"OF ..... ‘HMLCQLPEI. ..... .
‘ Mark for (a) = 1 out of 2

Effect ..... /VUJ ..... S\AD‘MA M. qum% n’bm‘)—@ ....................... eExcellent response under

2. ok, cmdilww! Signd.of. mﬁw%m effect.

Total marks for Section 2: [25]

Mark for (b) = 2 out of 2

Total mark awarded =
3 out of 4
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How the candidate could have improved their answer

* (a) Under meaning, the candidate could have improved his answer by realising that ‘volume’, although not identical
to ‘voluminous’, is a derivative from it and therefore does not define it. Additionally, the candidate either ignored or
overlooked ‘conveniently’ in the expression. They went on to link the expression to theft or deception and scored
the second mark for effect.

» (b) Under meaning, the candidate correctly gave ‘ran’ for ‘shot’ and ‘urgency’ for effect.

Common mistakes candidates made in this question

* (@) Under meaning, it was common to either ignore or overlook ‘conveniently’ in the expression.
* (b) Under effect, there were three types of common errors.
* It was common to repeat the image rather than de-code it by writing responses such as ‘he was like a bullet’.
* It was also common to repeat the meaning as if it were the effect, by writing responses such as ‘the effect is to
show speed’.

»  Other common incorrect responses were to give the reason for his leaving rather than the effect of the
expression by writing responses such as’ he wanted to catch the thief.’
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